ik @ eT— O P - el =Sy et =
i PR ==,

nrﬁw\ﬁ@n Toverse, T\XW&&E&M
n__.$L @ﬂﬁm&.&auvu R\S. :

Assessment

Mathematics: basson 1B

m“u_r Inverse hh:nww\r E@L@

e _-ml .. —— I

T

- |

= 1Ln.h.wnuﬂ.ﬂ__h.1.____ r......f........n\E.....

Which graph regresents a gne-to-one function

R R B

P tedle bl e oLl fde

(P o gt e 1 B il s

sy §

(o

Indraie wheihes the funciion is sren-ocme  |-s.0sp.(n-3), (2.15]

‘ A Tuer wat_u_.ﬁ_L_..uhnnuT_.mlLErL.b
it e {1-1 ) Ftagaila AL
\lxlﬁ\hnﬂw.wﬁﬁr:_wﬁ_

SR, el ) mmmgomrt.,ﬁ__ PSS L O I L1

——

Horizondal line inforsecls Hhe.
cm?wwi__r al most™ one i B T
s

Use the harizontal line 125t to desermine whether the funcuion is one-to-one.

N ) S i

ﬂeufﬁ.tthn{hk.wr_
a8 L

A Mo

B. Yes
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|

el - B s

F - s
‘Whach haretion is mat one-to-oee ¥ .iu........‘. ..hll-hLLa.h\@...H.l.h.ﬂ

A "_"a _-._m...u:.".'._._nm.-—_m

LS VN (TR PR W R

C oMy “.V._._(ﬁ

0. [joapieapgz sy = b\-\

e

6o rL
(L & T )
bl b P &St
—sYEL g

(%, )

\1-]1 -
,mlt_\_&br\\. at £0x)
WS - .Qm\n}ﬁu_
bl iz ¢

The inverse functign of {Led(-3.4).(%-5)} |5 ntt _\,.:.

& N0-1a) (3 4).(-7,-3})
B [{z-e)(-5-4) (0,5}
S (LR TR EE R I NS
# Heh(d-1)(-57))

._.H“.”“”.d.”__.g- i _____Enfn__._ defined by the Folinwing yet of ordered pat Find | | = = I i
-4 : L_L LI ‘_ q Which ol the fobawing m the hErse o the funtion i

L & Aulp W b 1) i : P
L “ - -l A .-!u ek ._. u- Liﬁn‘-‘tthitr
B .__o...n—..u nu_.__..___..n-\u\..‘“_ L o Jﬁ..qh_nn..vu_l“un|m
e — g C 3 o _.h___. )
¥ 7 +.. -._..__.E_A...... Al 12, e ) % 74 = I.._.nlu_ g ﬂ.ﬂu.___.n..

% feny) = ...n.urym.h\ll ;
._.m. 0) <2 Lo
%3 Luﬂ.r_.ul__

B ortsistaag F ..lllnn-u ol ||
@
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3 Wihich of the following 45 the @verse of the furiclan Fiaszel?
Fieed Thet inveTze ol :.T* _fW
A Zath ru\. - A flwdesl
2 a2t
B le=3 t‘...__._.__ :
[ £ a=da-1
B it (R SEELL

- — ¥

.nhl;ﬁ,nnhr.n.___hh.u_nﬁu.-_i.ﬂuru.b et Veled 2

\V.F\... .H%L_L__n_\nhl.rrhlhw\n\tuﬁuk LLL__
..—bnw.u .wl....?u ...._.\L...___

[ ===

ey e e _—

uEEEn__EE q_._= luncion ww imemn 10 each otter

Sk kL) a+_ n\hflﬂ-t_n.lt_—. e - —

TNl e bl g
A Ha m___..kL_._e:__._..\__..qTFTn i L
L™ /‘_._.u___.t..uh.ﬂw_.. ~q ﬂitﬂ._xxﬂlt__h\i.-\uﬂnl‘ _u..l.h.c..ul ..h..ﬁ.\hu.lﬂ.\.ﬂnluhh—

|
W L) = ~sergy 2y -
(B) fete) = LA d
hll-lill-
(e —
2 hﬂ\___m....m-l.mﬂ.._____mﬁl_.._ H.h.ﬁi.___‘.n. l\.w h.n.n
= T & ..m.\___‘mwu i& +/

...Irfjﬂ.qm

= 5 b.nﬂ

is

TZeE
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. = R et - == - = ..mTL-..i._ﬂ...al..ﬂ l._n“..urr..i_

__. -
The graph of f|x}=3° W-‘t%n\;\h.-__hh__ i...._._._.\l-h

A interserts the r.axis _:UJL._.._..:n_?ﬂr.\
.‘.. ntereects the y-auis Fa vy \Vsn“\\r\l__..._
}mmmmmgmj.ﬁ € Enteriects bath aed \A.I.__k%lhtﬂhﬂuurlhrq\.“ﬂﬂ.

D intersects neither anis .W.\...E.....NT.N\.%.‘.. Il?.“whu. X =0
H-\...-fﬂ.\[ﬁ..tﬂn. & O “l%__..ﬂlulﬂ‘_.......\ﬂsll.-

&

,_c.._“.w..\nn\..u.xuu - Y23 e g

. oma o dir
g Y- ks

. A
-
A+

Mathematics: Lesson 29

M...u.w h#ﬁnﬁlﬁwm. fFanclirm

Fod the domaimal fin=1 il : ] g
Jixi=5 = = ...F...__r.._.. |.ﬂ_-...__u Find the range al =2 -3 Cup h..lu...rh...
A Abposie real nuember ¥ e
: _....._“_.A..l...t.._m_..__.uhhh...n..;\ A [1w) @d=27a b=
o A real numsiers = . Il.um

B. (1,= }

o* (5=
or all resl Humbers . s

L A4 FEIE e Mer thie gre ﬂ‘l. han” E\V o %

L. Al e als besa tham serg

Runge = (b, ) - (-3, aa)
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Hﬂ“.ﬁ-ﬂii exponemial bunction ¢4 . :I._ o how would fiae 7y tramsharm s the lunclion  »=4% the saeme as the function =20 7 —
a2 X LA g =20 ¥
o viowes 2 et hnh.__.MLanW\u o ves Y s .
L) B ko _—_ -
L SErteh 1 temes closed 10 w-axis nm..u.\.l.!.l : u..rr
L’
D Sereteh F times awdy rom rass W TR, d).@l
move (o ff Xte R S ey N
= C = i — T S
f Y=frr= of 1} LJI

(mave in. x-axis) + ¢ A2 a— X T A e ) TN

Wove wp —» b
Wagisg. date l..-...-mv

(move In y-exis) th IH_ﬁ.w o Y s ifdre) T

Sorkve Hre equation " =12 .'r.#-ul_“.,. m ] . —— - - —= -
= - .N = Hrl"lJ aghve the eguation 3 1o .ﬂl..-.lllllll.l...“-__ rvu.._r.?
& 1) P Ly, R A (h)
B {4
C o) - _....u_l..i.ﬁ., o __.hl..._.._. e il
| ,r*l.ﬂ!‘!. l“ll. m T ._...ﬂl._..“_u._-
D [e=h e ) n -3
2% = i
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Cluestion 9

» o L rure—'C i i N L, | I.llh
—-- - =" H-_u_rlllrlt.rrlll.l.lrklll.. =fal

e L T E Pl ™ FULEY 1o the nearest thousandth

- Choose the gragh ol nlﬁi. and state the asymptote @%
Lt . L
uS Y ¢ St g ;
a.-25({3) " # .__I_w.
& oI -ﬂ......mu...... [.4€ e~ A .__ B. e ael s\

T =% ) F a)

oL E1S3TATES & __H ° B L. .h\mum\x&.ﬁa.wnv

L LIS

a u_l__u. <\ —» fendiine L.no._.éﬂ.ﬁw paste Lo JUg1
” Hwak D Ll ,i8 pddle
.f | floy 2 o -
" - £eoy = :pw..%u el = i

B e | (or%) pezdt < SYND R e 2o D,
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Assessment

Mathematics: Lesson30

ﬁ..l,m Loqardthimc .ﬂ“_,:n.h\‘?

-
SEIC T GIRPATA PR ELIRVE

e e i v % T -

B e,

Firu the damasn of y = kg K
A, Al real numbers

& Ml peritive real Rumbers
€. Alireats greater than gne

D Al reals bess than o

.I_.-.E,"_.__._ vn.nn.....l«.tl\._ﬂﬂnu

OLat i by
sl ani)
mn.snb.r, = n.H TL _..._____uv
= (o, ®)
= X1 x»a?
nnu._h.....\-t....___...rnﬂwmn\

sl iy

Write the equivalent of the following function y = log, x

A y=T
#oxe
€ a=Thy,

ﬂ. u_..n..__—__u_.m-

-E -.

A NG ) =)

=L ®
3wl ¥

e

oy

Find the range of y = log(x} + 2

A (=)
B [Lw)
&
A (w,z)

ﬁ- - O nuov \
o KoM 3
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i F [Vityy i~ = e —

| T T T -

Use the properties ol togarithms to find the exact value of the expression, Do not i 3 The equation 2 = lag, ., {y + 1iean be written 35: e (ot l\ctrr
v T S

¥ (Ml ) Vit =T o g () = ¥+

£ 18 ?ru.__.a_.l.. mn.w.m.ﬂ - _m__“.__.u. .IWW, T pediz=li-1 = =}

o7 2 2 o p=log,,2-1

e [
- beg® - 4
Q\XHMF‘HD%\E_N“\V <

Wiritge thi FTal i i = .ﬂuﬁ.‘upﬂlﬂ.?. Y - |m e .-Il. - o =
& the wifh and/ar difference of logaiithms lag, $ g Salve b, (Zval=1 xl..__u...‘.u_n. L P | I\{ a _ru.ul__.
, P (A, 3"

A W_a__lu_.nm.ulru.n...v. Jk-. m. A xal _M:ilfrd.. b= lul. - m.

y =

B oz, S-log, x-tog, p hﬁ\w H oxed .nll.lnr mU

[ 7 _ﬂ_u!T"__.u..u g, ¥ - hmu 5 E C oxm3 o = dr

i 2 X

I, 520y, r-lug, 1 i » 2 Freis p .l..#._\ﬂn = =B.-9
o log (™= bg *°Y
] 2
=4 lgs - (lgx+bg¥)
5

n.-mu.u. - n_u..mu..q lu.n..hm
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v g B e T = e S, e |
Solue the equatkon .rq_m_.;.nan.'+r.._ﬁ.__u.|ﬂu_ﬂu ﬁ%_._u‘v ﬂ\dl.”-ﬂml.ll—..»
#F <« PP PR
o log el WD
£ fa. -4 h—- J"..l”ih\_\\“\uh--rb\\
L[4

S s
.t..._-.“.__._.__....b.__f.\.i_r r e @r\ q -
- XKy A == 24 P TVL

Rl w + d) <o Yo=-65 HT\lhu_....b

Ve
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MATH 101
Mini-Test Sec. 5.1

1. The inverse fgneticn of Jiz) m2z -4 s
s & i 4
!.f rl= 5_1" - .ﬂ f

Is:,.f"-.r:r_%:~2 = }{

SEALE ST S P
Dy r II:-'.'
’ __3 =

If fizl s the inverse fun-tion of girt then
Iu'.-rfpll." =y oand |__ﬁ-,5||.__r = T
Bl (wofiir] =1

rl I rq!qr friem
D) (gofiiri=sr or [foniiz) = 2

3. The mnverse funiction of Firl = 0T — B i= . -
I R N g -
#_;_l-r _::-I_"p ¥ = 5—6 - o ——-{‘fﬁ"
E: ['&d - c\’; Lf.-’dfp
—_

Cl f-Hx) = (1 = 6) 4!
-, 3._1
; 3

I-.”_," I} =y

The inverse functiocn of firi=3r=-1is = = ®w : i
r/
Y

4. 1
S T IR, | =
Al .-‘r ) =4 =1 X - H._I E_—--'

B} [~iz) =2 -1
(RT ] :(5:: ﬁ.—-]

£ f_ == |:-:— 1)
D) [z} =w7 -1
) Y= K5+|<é‘:’ ot b L)
ol o S s T s

5. The invers=of F = {f;;!:"?;jj:{-l. S{3.6)} is : " . —
A Py aacs < DA e i (—
Bi F=*={{1,65:0%2) (4 1):(5:4)} d" CL"L?
o Fh= {16,502, 10 (4. 3545, 4))
D) F1={{1.2);(3.4):(4.5): (5. G}) 7[9 ) f { ~—)-;;,
X X, 9))
— f(x) - Yfﬁj)(.}
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Tashub Uniuersity, Prepurnlary ¥ear

RIATIE 1121, Firse » Scmesier 14 |43 503 C20H [ R
e ——— ' o
pdini-Test (Sectlon 5.2

Chovse the Eﬁfﬁ"ﬂ‘ T

T thenf(-2 = (-—-—) 2=9 IR

f. 1T fix) =13
A -9 _.ur'"
R. 5
s e
oL s v L7

2. Let fra) = —[0.02)7 be2n gxponential fum_tlml.fﬂfﬂ firiis * - ;
y "
o = -o0.02 < | o Leors ineredding
E. Decreasing and Increasing
. Decroasing
A Tnoressing

‘-’;"J.:JL- M-".:-"'d"’
3
r=* O/t'i.fﬂ},-d-"'lw..?l
{‘:p : x (_’6) 'g- -I"
15) ( ‘?') g

Elp=B
ODor=-5

1
1. Soive the Following equation 13 =

1

A B=ad T} ,\,_,JJU.#"FWJ"JL
Bt BV = L]

D=6
?:-F-f; ;_;.E? '—-’é—/—;\:_ﬁ'
22 (5) = (5
X+3X =~15-6

5 =
-l Gx)=- 24

R PR

P8

4. Sodve the following expoaential equataoq Fihm [:

(=
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B m@

S 0e>Ta#dfix)=(z—37"% hen el
A, lorarthmic funcioon

B, linear functica

C. quadnugse function

[
& exponenial fanciion A1 )1,

B. Find ¥ such thae [17=11 o 12)IL==
AT =%

L R I ()

e o 2 20
;‘:ﬂ 1 At = 22-2%
: g Krlx = 281 @éd}i

7. Find the dormain of flx) =571 40
o (2 )

B. {120}

T (2ac)

B (0 o)

B, Fing thtrmgeal’f.:’;} =g+ _ g U =3>uc "'-‘-‘5"__.1"5
A (- 2a) a

8. [~4 o) b e g
A -5.%) c T
e — Yonge < (bio2) = (-5 &)
% Frnd y—irtercepr of the praph of = —[,5% :
P K\_ of fiz)= 0.5 = —ra.5
B -] - . °
C 03 KEa e = Y-y
D —03 3 L;Idy ¥
It Find T—intercept of the gruph of fiz) = 3°
- =4 -1 K
A _g *‘-.___, - Iﬂ : 3 - 3
E. dows not have T—inercept 31;.0_: = %
: = 7oL
> N = 'é |

&E=D

3 ; —-i
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Mini-Test (Section 5.3)

Chaose Lhe correct answer (a.b.e or d}
oo , T ! .
1. Write the equation « = log, v in exponential form

i
fa) u= " l.FJc""‘EJ '} (e} w=u"
A= fd) wr = v

2. Write the equation 8 = (1173 in logarithmic form

a} & = logy (3] (e} =23 = logsl})
e -1 = -!r{ (8] |} 4 = logy (8}

3. The Lognrithm It‘.-ﬂ_'_-.l”':j-.fj = - 4 ;@,ﬁ".z{bi ﬂ.l':'d(f'-"":.r}
,,.Aﬁ‘,,"iug:{u"r_] — log;(y) () Toga(6r) + lagaliy) N-"‘) i:nk,

(&) log.(y] - lng. (6T 1) lozsiy) + log-[Gr)

4. WTrite the fnn”wing CXPression as a 5]:1g|v Ingmithm witly coefficient 1.
Assume all variables represents positive real nurbers

log, r = log, v — 2log, i -—J:jf-r{gﬂ fij

.._..r-.-'-—-=

o, (; my
(a) log, (5E) (c) log,(22) Ear_aﬁ_ﬂ—-é‘_j""‘
(B} log, (2=) g log, (2] a
5. The graph of the function f(r) = log.(z — 2] + 3 is asymptotic to the

line

T,
| . bx—-2 =
(@) p= =3 fej y=3 ot e X

=2 dyz= -2 PELI L p
=~

6. The domain of the logarithmic function f(z} = log,(r - 2) + 13 is

(a) (0, ) ie) [2,00) w22
(&) 0y oc) 8 (2, oc] ot 2
Gl.n.-.:t..‘l:.u.. = \f_-'b,.r F'J
1 = (2, 00)
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Kingdom af Saudi Arabla Eaa[ Tuibah Unlversity

Alinistry of Migher Educatlon Dieonery of Academle Services

Mini- test 5.4
Chrsnsie 1 he Corec |rtﬁwrrfm_fr,rﬂru ,-K
s 7 )

5 ’
el e ST b b
3‘&:},1’{. k] :-Iué Eﬂg = 1!"1 F
i ‘:r:—:-?_? => xdn3-= b 7 dn 7
2 Solve 4777 = 37" e i
xR (é‘}dﬂ,af' .'#’I'f =~ In 3
B r =
it -y = @'(_F-‘ 1

L]

d] 1=
X X
3. Solve £2* = Ge* = —B - g — AE +8 = ©
23] xe(ln4,=1n2) X =
AF xe{lng.inz} (gx_.gl}(g: ,.-4',) = @
€ re(n6.~In2) N X_ I
d} r&(iln4, InB E.Al:____ 2 E = E o
rl_;.#.ﬁ-

2 Y20 The solution setaf (11F = -3 s

a] [In3} ;,:J_,MEM
ﬂ

b) (In7) =

e [—In3) by riq .'l,v.
e (J)&j..-’

2 Sohelog . 2xr+4) =2

":::-.:ﬁ ZX 44 = ¢
o 2% - 32
6. Solve log;[(x + 5)(x=3)] = 2 2
1 (x+s) (x~3) =3 = 9
- :r: ::E:}S} ;(_1+3x -5 - Q4 =o
S -t x&,2x -24 =0
Y=L W At (X+6)n=4%) =°

e, J
B D oD
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7. The solution set of luﬂ{r —10) - log{x— 6)=log2
iy et sz @
b} ["” x -
,.ﬂ' z)
d) (3} _
utian set of logg(x + 2) + loga(x + 4)=logg B B

ny 8.The soluti
5) a) {—-6.0)
A b} (0)
¢ (-6}

d @
9. The solution set of log,(2x — I+

) 25

X v =Y
L=val

d) @
10. The solution set of log:(logz x) = 1is..
i

L
a) {-8}
4[ by 4}
¢) {3}

d) @

loga(x+1) =1

J
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g gt = g F=fk

T

7Y & papenes
B If"'i.-'-.]"’-l'i
C _-F'Il."' =-|."—'ﬁ:'J

[ I ot B

ﬁf#’) =

A

4 -
= X ot %—?%'i"‘*@""

22, Lo fia = [.‘]I:] e fr=21 -

< 23 L fi=l = E;" T
. A fherrewedng L SR a = _‘,’ ? .III
W I_.;":. fowpeasing
ELF-L'LZ Com=tam _

# 1 Deercnsing amd Ineewsing

P 2 e
L }
24, The Logasithien bz e gb= . .5:-Ef{J*JJHHﬂLf’..r' éij:j’
"L !i.l[:ﬁ.l"ll - Lln_.-‘u:'
]I:—Irllln.” k. "l.'ﬂ_-llh'll
E ]cJ:_',:t.*lu o nr-'i","-h_-.i”'.l'hl

!:' lll-':.:-lll..-.l- Llﬂ_:f.'.!

l \JP'I" The funlaon f{;}: 27 = 4 s ther Jworizmstal -uﬂ'-'1|L|Au1l:

I::--*-E

j-, Sﬂ_:d a#zl:ﬂ:f
£ =4l
'ﬁ'['l*_l .: [‘—-F:,‘p b:l'.': {-— ﬂ?’"S)
Doyg=1% rnﬁ.:,

(4=b)
3 =5

T

'-,_;PSS The dhinain of the funition [r] = kg2 = r) =

J/J fl:_: 1. = it:j (":":-d-ﬁ..) _:>
uJbrO

c;!ﬁ‘h'..ﬂ-iﬂ (- oo, I.J)

= f;et=9; Eli)

C. (=2
b {=nc, =3
@ 33 The lusction flz] = g dz = 2} ki the vertical wvinptade |, x
ﬁ /y.l' =" —

B r=3%

0 p=3

W oategy =9

~b

der | Sy oot

A The saluting of Ing e —2) = 2o .

Fak 2
A K-2 = 9

!..‘l"a.-;
C.y=48
U-;r;i' *= E-""Df@ = 4 = 7

—
s Rl e
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Mock-Exam Periodic 11

| \
ch afﬂb’ & I'I

qnge |G |

1
- Sio u |
25, Write the erpoion a‘r- Ldgsjej int eponntiah furm ol i, il i) |
= o E::.]' { a2l ~ |
o= l" — Lr- |
B #=c" ",ﬁ-;i q uré'-'-r? .
Coe=n? . -
Dod=wf
- I ¥ l -
26. Tie Legarithinic lugyiz®) = JH"’J“J""M L2 2> b

A logafx] + logafal
“ g lega(r)

C, logaler)

0. logydx) « Ingale)

wﬁr
27, log,( V) = I:'.r K1 =
AT £
BawvE: 1 f.
,ﬁf% =z c-g.f;;
! -1 g o du
D. 3 —E! i B =

= lﬁr*‘f’f":’;'r”bcr-#’iﬁ;jb“’d" v I'.
Goto- L 991 Y A R |

7, el |
| 27 , leP) &

28, Thy domin ol

L il

B, [ =0c. 50

]
. 23
B l:”'fﬁ

! e fnetion f{E) = Lols) i

-

LAk 227

]
D (=) r/'—\
&

e — _ ":“-5’?'1 WJ;:’;—.}JJE{'(FNE;
39, Save: 7= 2 (g (! P MM ]
bl = < Ay el b
i SR ag bt U1
*f;:a = ‘Qﬁ_".‘] Z')L_ I_::_‘z' ._._4.1.'5‘ !}.‘MJ

,,;.-::—EE -’ﬁi‘é‘:‘ff-ﬂ-f

Y X+ =1g-2X
—> ©

iy MU &
(s *.",’!’["’i G h
YLonbhyes) 5

B

T sx=2
T

ST

: fock-Exa
= 151 }}}h-ﬁﬂ -'l_"ﬁ.--\:'..aﬁ:frl:-'lqlll_ﬂl_ =

Cepantid

Yeur 1436/37 (1" Term)

m Parimlie 1= >Acndembe
o .-‘_.-1--{1 e 4

e
il g et e RN B i e
........
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Mock-Exam Periodic IT .

Jaege 07
L\:I‘ 31. The solution “%\ﬁ:‘g:‘tr -I])i:ﬂlﬂ W;W&#HJ_J‘JL
4 {3 5} (sx- 3)[,31-‘}_} .E ":E_‘f"’"f-'.-r?"*-ﬂ"’.r
j-i e 3‘?‘:.4- gl 4 | i -
ﬁ{i } ?,‘.{_fix-;x+ g5 = & i@ A ﬁh-_:}cé) '-
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